Eplwth nmwpwdwoppwught N1 whwnwljwh pnjke

SwipEwt Jupdp
Niudwy nbnnnipniup J&wpniyh
unniuk t mbknk i}
Clma eyt wkntph putulp (nwupp/wmdhu) nrunigdw hwdwp
Uwutwghwunipjub (gpund)
“/h wijwinudp Dpulunjnpmdp Unlju Zkpwlu Unljwm Zkpwlm
hhUuljui Uhotmljmpg Uhgtimly
Yppopyunip Yppmpyunfp | Uhgtwmlwpg | bpfbwbumb | uhghwlmpg upg Unlyw Zbourlju
winj&wmp / winj&wmp / Yppmpjudp | Yppmipjudp | Yppoipjundp Yppnip
Y&wpnyh Y&wpnyp Jundp
1. Thpuutwljut wpydtuwn Thpuuwt 15/10 2/23 - 4 3 - 160.000 -
2. NEdhunipu(pun nmbkuwljubkph) | (thdhunp 10/10 2/23 - 4 3 - 160.000 -
3. Lntuwght nhdhunipw Lntuwghti nkdhunp 2/18 i i i i ) 160.000 )
4. NMuwnh ntunignid NMuwpniunyg 0 i i 4 3 ) 160.000 )
5. Eyntundhlw, hupyquyuwhwuljut | Zupduuuh
hwydunmid b wininhwn(pun 10/15 2/23 - 3 2 - 160.000 -
&munbph)
6. Cnijujwpwinipinih (pun Cnijuyupwn 15/10 421 i 3 9 ) 160.000 )
&minbiph)
7. Zuuwpuwluwlub uttnh Ukubkobp®
uyuuwpuub juquupynid | hwuwpuuwlwh uitinh - 10/15 - - 2 - 160.000 -
Juquuljipydw
Lujutujut duubwghnwuljut (mphbunwgnpsuljut) Yppnipnii
8. Qupnulhpunwljui nuljtphs
wywtwlnipjub pujupdtp 20/- -/20 - 3 1 - 160.000 -
hpbph yuwwnpuwuwnnd
9. unhwupwpwlwh gnps funhwpup 40/20 -/30 - 3 1 - 160.000 -




